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Part - III
SifleSwed / SCIENCE

(0D oMb eymifle el / Tamil & English Version)

GpyLD : 22 el | [ Qurég wHLCuTsEr : 75
Time Allowed : 2%z Hours ] [Maximum Marks : 75
ofleyenr : (1)  Siewaise cllenmmésEpd Ffluns Fsl udeurd o eransm craTLIgeana

sfluriégs Qsrerara]w. &#&Dbﬁeﬂﬁb GapuilmiiGer iné
sausrasiiurearflib 21 anguwirs Ggfledlssayb.

2) Beob @daz smUY owvlomea wWIHGCWL TWHMUsSDHELD
<ig5CamgHeusn@n Lwel (s CouarT(HD. LILMISET auenreusn @
Cuendlar LweuBHSFSaLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagzams.

GO : Qeuelerrggmar epestmi Gifleysanerd Camenm_g).
Note : This question paper contains three sections.

Ylifley -~ 1/ SECTION -1
(dlliGuauser : 15) / (Marks : 15)
@y : () @UuAfadler o erer 15 eflamasEns@Eb efewiafldseayLb. 15x1=15

@) eruys ghllger Qer@asuulBdaer wrom efla L sefld®
Blseyd sflwrer slemws GsTHEE0OES eripseayb.

Note : ()  Answer all the 15 questions,

(i)  Choose the correct answer from the alternatives given in the brackets.

[ SpLiys / Tum over
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Blumam_ige aflser updlw sflwren sapo I :
(wafsear 95 5o Gapmblall Gadr, Gauaraimanio G550, Gopsalama
2 cingmzd wHHD HLOTHS peoL >, @ppsairsemaLs UDSEE)
The correct statement about Neanderthal man is :

(the first human like hominid, started agriculture, ate meat and walked e
the dead) '

rectly, buried

aurgrd 2 e r@n Crm _

(ensumi(®, QAsrpCrmi, Qeudlpriissl, LLTSTOT)
is a viral disease.

(Typhoid, Leprosy, Rabies, Ringworm)

S(WP5EIL1 LGSuded sramiLBD g Hrembloars &Sy

(@i fared &9, QgL AF &9, egrmo@ srod, seemmub)
An endocrine gland found in the neck is ;

(adrenal gland, pituitary gland, thyroid gland, pancreas)

UsEL sreurmsaie urdlan Aumes weapuie poLtunpb wse Hlana,

(BHUDSD, (paarsse, BamBd o Hearge, warhss Carsams)
In sexual reproduction of flowering plants, the first event involved is
(fertilization, germination, regeneration, pollination)

o amriniSens o Crmomiger sravliL{Hn eflemnis,
(QeueTeumed, WITena, LOTEN, LLEneT)

Sensitive whiskers are found in
(Bat, Elephant, Deer, Cat)

QBLTewr&seT eraLIama e sifley B e piumgi.

(UCym” CLCameur, Faam GriLm, SL@LL L|(pE56T, UMETSSSL L|(Lp&aarT)
Nephridia are the excretory organof

(Protozoans, Coelenterates, Flatworms, Annelids)

Bllerméd ureyn Crriisg erBssEST-H :

(Qardl Artag, Haflur LpGCrmi, LTTEE! Gampur®, &Tey)
An example of water-borne disease is -

(scabies, dracunculiasis, trachoma, cholera)



10.

11.

12.

13.

3

fenré seoyluramsd Qarar. samysd Br&sen e
LIS STLULITETSES QBT Sanrsd
(Brésemrsd | Brop searsa)

A solution that contains water as the solvent isg called an aqueous solution. If

carbon-di-sulphide is a solvent in a given solution, then the solution is called
(aqueous solution, non-aqueous solution)

DGLD. STTLUEGT -enL_-
BLGLD.

er@uiléansude ARG el 2 dreng). <yli9elld o drar oifleid

(ordigd ylleud, wrelld oyfletd, Ll milé Sbleib, psevrells ojleLb)
Citric acid is present in lemon. Apple contains

(Lactic acid, Malic acid, Tartaric acid, oxalic acid)

QAzrEd 16 -6 2 grer &0l LO M & 6T ere LI (PILD.

(@mruen @@L, sroGar@imeidy @@ b, GamGeorge &(HDLILD, @nbL_Teger
&®ub)

Group 16 elements are called .

(Carbon family, Chalcogen family, Halogen family, Nitrogen family)

Sjwensar GHusSld o drar s Carogdler IUPAC Quiwir

(w&em | r&evgear)
TUPAC name of the first member ot alkyne is
(ethene/ethyne)

> gt®

p

Sl(h@ jerel -ain el L Feng 2emésLl LR Eng.
(sLtureny, Gwadlwusnd, AsQs . Lbs)

The Screw Gauge is used to measure the diameter of a

(Crowbar, Thin wire, Cricket ball)

Leflller Flenm wrpmoed sHGUTaSW HIASBHS LeSuller <mis urdwns
@eprerme LeSlrFTiL (phassdear gl

(s0Curengit Hlenawenwafl @) rig Lium@o, sHGUTDSW flanaenedl Hreane
DL RIST@ELD, rorgl, sHCUTmSL ﬁ]mmmwaﬁll_ urdluress @sm_mu_u.b.) |

If the radius of the earth is reduced to half Of its present value, with no change in the
mass, the acceleration due to gravity will-be : .
(doubled to that of its original value, four times that of its original value, remains same;

r

reduced to half of its original value)

[ Bt / Tarm over
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15.

@My : eemaiCuenid @\mug clamssenseE oo wiefdEsab.

4

. s ; L9 Lolear
30 ueLyser Ggm_ir @anenriiSle Geanss UL (HaTeTSl : gl ?&@ um@g@ﬂ_@
2 5@ Boip 2 mdu Gar Bgperar 29 e LDLsE5D HHCS LDleT &7 -
Qsm_fAeem 96 Geamssriul LT 2ihs 2ampuie Qeuefl&eLd
(25 MEE0, G@pwb, wrmroed GméE!D)

30 bulbs are connected in series. If one bulb is fused and the remaining ‘3191 g;{bs are
joined in series and connected to the same supply, the light in the room W :

(increased, decreased, remained same)

&

2 Carss sL5HuG0 uryw WaCam L Sigmead HHl
2 (HEUT&(GLD.
(smhgLLeD, erhfirefens, gnam@n LerGeamm L Lb)

An electric current passing through a metallic conductor produces __ around
it.

(magnetic field, mechanical force, induced current)

\Slifley - I1 / SECTION - II
(wHuCluemser : 40)/ (Marks : 40)

Note : Answer any twenty questions.

16.

17.

18.

pruseflenr ars@n U imwdurer LaTd9nE eris SEMEDLOW|GHL I
Yener sUL gl Lwatu@sgl (Rr) gGament 1 QsrawL @ &M EEGLD
BTU&ET epeld 19p&s eumiiiLjerar prils@ iy safllar L samers FaMIS

In dogs the barking trait is dominant over the silent trait. Using Punnet Square, work
out the possible puppies born to two barking parents with genotype (Rr).

Quimas Csrays Qardrasaw @Aeaflul Leaf wiry » g @) i (j)
Garlur@seamaerd GHIGHs.

Who proposed the theory of Natural Selection ? Mention the two
theory.

principles of this
wrGerm@gGarmane erSTULL QUTGETSET erpme) eramey 7 Slaupdlar Lwen
wrg ?

What are monoclonal antibodies ? Mention its yge,

20x2=40



19.

20.

e DSIILESSISEO (A) 1 Lwnged Gl gy Crrurefsafan @réssde
ETarlUBHD s(Hs6 sissmy WU HHS UL T
Ampr euflurs QeuefGuppliL@b.

smyeusid (R) : seanwd Guigiorer Gasadlenand &TLLSwEMma.

(1) (A) LODID (R) sflwrearene. (R) erenig) (A) - aydamren sflwmar efletéaid.

(<) (A) Hmd (R) #fwireraneu. (R) ereniig) (A) - ayésrer sflwmrer afleTésid i6e.

(@) (A) &M <yemmed (R) seum.

() (A) seumy =permed (R) &,

Assertion (A) Expulsion of excess unused glucose in the blood through urine
is observed in a diabetic mellitus person.

Reason (R) g Insulin is not produced in sufficient quantity by pancreas.
(a) Both (A) and (R) are true and (R) explains (A).

(b) Both (A) and (R) are true but (R) doesn’t explain (A).

(c) Only (A) is true but (R) is false.

(d) (A) is false but (R) is true.

Qasr@ésiul_Herer Hluyyratseafiar UL LD aueThg DD QGID ST6Hs.

s / Tumm OV

[ S
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22.

23.

24,

25.

26.

6

QsrHEsiuL(Herer UL S®S aUenha| UnERIGneTd GH&E&E6LD.
Draw the given diagram and label the parts.

urgn’ g &@séEaiu safll uaTyser @ramgamernds GBHIUEGHS.
Mention the two unique characteristics of Mammals.

(=) Anbragdler enwliy bHmL CFLD @GS Wrenel ?

(<) Amfr QeuelCumd uregler <yliumLuwld walssPe; B&s
waT_adHlayerer GemaimHn 2 mlilsamer eutflea it (Hds)s.
SAmBir premd, AmHr ym euf, Ambran, A Bl

(@) What are the structural and functional units of a kidney ?

(b) Arrange the organs of the human excretory system in the correct order, based on
the passage of urine.

ureter, urethra, kidney, urinary bladder

(1) urgnigsefld sraTlLGD L el wirg ?
(<) wrenamuiler sHSD erHen WIMLITEH ?

(a) What type of dentition is seen in mammals ?

(b) What are modified as tusks in elephants ?

FTGEHTE S0 TFD <,0HADTENS mnﬁJmL}:mL_eElg)@.

(=) Gupsem_ Gewelle) arssmaw Hapss paL Qundng ?
() erpg peamamdfil FHUBEDG ?

Sugar is converted into alcohol.

(a) In the above reaction what kind of process takes place ?

(b) Which micro - organism is involved ?

PlgWITs). erem ?
A fish taken out of water cannot survive for a long time, Why ?



?

27. A B aan GHULGS srarsd SMaen aurev@eoni Sassefiean LLID
C&ETRSSUILL(HeTeng).
Types of vascular tissues in the plant stem are given which are labelled as A and B.

A B

(<=1) AB -@eér Quwigar

(2)A -G anfurst QUImHETSET Talarn BOOsEHEES HL55L)
LB dlenmen ?

(a) Name A and B

(b) How do the materials in A move upwards to the leaves ?

28. Aemeupid 2 ufiGaudul a;gpﬁ;élmu.:é; sarL_Hbg Yeareumd alenTssehsE
eflen L wiafl&sa b.

cuaflLoesr_euib

| AR

UIGBETCUTBIGET| | STeUTRISET uigo erfl@urer| | micrgmiud faser
T aSleorii@aEar @ umseflwr / yesas
2 F
(21) ereueuens 2ar’ L LiGur@mer ufliormdépg ?
(=) = s 7 eueny HenL_Qumd QFweseT wrena ?
Observe the following Bio-geo chemical cycle.

Atmosphere

b N

Green plants| | Plantsand Fossil fuels | |Micro organism
A animals C (Bacteria / fungi)
B D
(a) Mention the nutrient in the given cycle.
(b) Write the activities from ‘A’ to ‘D’

[ &muys / Turn over
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29. YHwed Gouraientd eTETDNE GTeme ?

What is energy management ?

30. &werer smpmiser Sauprs @minden sflwirer sbilaen T(PGIS.
(<21) @pdlur ‘sromseflen R’ eremy impssiILEHDE.
() Quibpes amyelld sramiL@d waeaebLirer Aurmer LGTTELET.
Correct the statements, if they are wrong.
() India is called the ‘country of winds’.

(b) Propane is the chief component of natural gas.

31. gy Gup Guwaibd whmib Smbultt Qup QTS BUETEISEET (LPEDINUITE
QuUT(hS58.

GLGITRISET A B C
S QL
'én@L?u [ it &l STHm QUL Crrellwitb
QUGITIRISHET
HWRAT A gaf
%u.m Qum R an’rgen |@upes amny | 20
GUGITTRIGET 25DD &

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal Wind Petroleum
Non-Renewable Hydrogen  [Naturalgas  [Solar energy




32. 30 Agmb srgryen 2 Uevu 70 4. ffle sT&ELELNg 2 (heurar Seyeedle
Gepleneu Hlevm s565558 6 sHamadHs.

Take.30g. of common salt and dissolve it in 70g of water. Find the concentration of
solution in terms of weight percent.

33. QUmaT augs Hse apeld ANsELILED A sorsmas swrfsdpm.

34.

(B) SNEE®TFD GTEUCUNSHENILIF FTTHSS ?

(=) AGs@TsD @efladwns sear G SgindsEor ? AGDHEETST ?
(8) =&smrsden @udGeamear (PSS

() senrCummer gisaflen 2 (Heuatay Wmrg ?

Radha prepared a solution which could be separated by filtration.

(@) Name the type of solution.

(b) Is the solution transparent or opaque ?
(¢) Mention the nature of the solution.
(d) Mention the size of the solute particle.

Qemeumd il Lauamemenw Hliriiys.

SEHTILOLD <@ iblen eLpaES M) Hlen SlamiGsL_(h eTaT
s 71 v
Cgmen : 48 3
FOLIT 32 g 8
G BL_[FERe0 14 3 2
Complete the table given below : |
Element Atomic mass |Molecular mass Atomicity Number
Chlorine 35.5 71 -
Ozone - 48 3
Sulphur 32 - 8
Nitrogen 14 - 2 4

[ HpLins / Tum over



10

R 22222272

35. & ware) Qfley QararL BAys sbleon WLODILY b5 aflugparer

sfesms TOSSHE CETaTLTeD, @rarrige 6Tl 2
S|flewd ? erem ?

If acetic acid and hydrochloric acid of same concentration ar
two is a stronger acid and why ?

e taken, which among the

36. pan@ Qsfps fHo Aurmarsefler pH wduy S6P Qar@ssiu_(Hereargl.

Quim(mer PH gl
bl FnFF Fmm) 22-24
SEETaTE FTm) 4.1
s 44-55

12.0

e (HL Lwemm_(p

bCwreflwmr

SiLLaumaraw ugUumle GFug &Cp 26t CsaralasErss
eflen_wafl&geyLd.

(1) erpshBEL QUNHLEET 2 flodsememn 2 amiwme ?
(<) THEFHS QUITHLEET SITSSEEED 2 Ml wiemal ?

The pH values of certain familiar substances are given below :

Substance pH value
Lemon juice 2224
Tomato juice 4.1
Coffee 44-5.5
Household ammonia 12.0

Analyse the data in the table and answer the following questions.
(@) Which substances are acidic in nature ?

(b) Which substances are basic in nature ?
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37. QUTGSHS -
SNl eumiium(p
(31) UTEMEFL -  Fe)0,
(=) BUeTL - Cu0
(@) Gamweni__ - CuFeS,
(FF) &TULT euerley -  ALO;. 2H,0
Match the following :
Ore Formula
(a) Bauxite “ Fe,O;
(b) Cuprite - Cu,0
() Haematite - CuFeS5,
(d) Copper pyrites - Al,O,. 2H,0
38. 2 RIULBSHIBN © QauliussTd @l Qoenssda (Osfamwol

39.

uppeeituraile) sblaluggrerLer Fe,O4
vweruBEmg.

SMTETVTLD s iblaluggner @m audlemwwra ¢ &@ELwWw
srent. e mAluBsssme alard@d euamsulle
STrenTid FHWms o eTergm ?

Assertion In thermite welding, aluminium powder and Fe,O; are used.

Reason Aluminium powder is a strong reducing agent. Does the reason
satisfy the assertion ?

8Cyp Qasr@sslul@erer alaéshisaile assamd Jowg ardzamuds
SflwsHDE QUIBHSSLTETUD®DS SeUaISHIE Fmnis.
(<=4) Qg Hpwop erfsemer AsTaRTL @@ BHiLow.
() @8 pleussda 2uifl wrflseer LTGETESL LTRSS,
(@) @& e ey, UpFETHISMET UTEETESL LLGTLREHDS).
() @& Gaflr eaus@LCUTg Lallss i Curmrem L ShiseneT
2 (HeuTE@GHS S
Read each description given below and say whether it fits for ethanol or ethanoic acid.
(a) Itis a clear liquid with a burning taste.
(b) Ttisused to preserve biological specimens in laboratories.

(¢) Itis used to preserve food and fruit juices.
(d) On cooling, it is frozen to form ice flakes which look like a glacier.

[ Hpns / Turn over
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41.

42.

43.

12

. . ?
§m@EEp@edan (Spanner) &Ly fHerors @mLug e
Why does a spanner have a long handle ?

20 5. yrepi> 104 8.8, Hepuyid Gsram_ B 612 ara@pssLiLiOL iﬂfggif
gearen Cseuams urraaulBApri erafle, B 612 - FrTLIL (50@555;’]

eréemes ? '
If an angel visits an asteroid called B 612 which has a radius of 20 m and mass O
104 kg, what will be the acceleration due to gravity in B 612 ?

uLsfar AC eoasEsésE Gl Cu 2 drer GgT@UWET WlaTHenL &lienUd
SITEHTS.
Find the effective resistance across the end AC.

SoLUYsE GhHsEa darhssuurearer CQerpsefta 2 fluereupenms
CaibosBaGIL G6maupD L LeUmaTeiLl Blyiis,
(BIBsHrED, STy, sriuer, smhub, &fu-oL o smm@, Sigidaiun)

Gpir Wlemeumis |smifw ol Caossaer
ar it Waeumis |Qevsem@né) Llamsaen
Compléte the table choosing the right terms within the brackets.
(Zinc, Copper, Carbon, Lead, Lead Dioxide, Aluminium)

[+ ve electrode  [Lead acid accumulator ¢
__ve electrode  [Lechlanche =




44,

45.

46.

A7.

G‘UIT@‘Q",Q]& .

(=1) Blergmr i ib (Q) = BuExi
() Qewwiiuc L Geuanay (W) - Ixt
(@) Qautiu eyppd (H) - RxI
(7)) Blamenwpss Gagur® (V) - VxQ
Match the following .

(2) Charge (Q) - IPxRxt
(b)  Work done (W) S

(c) Heat energy (H) < s

(d) Potential difference (V) - VxQ

Camg L @)L msemer HliyliLs.

(=) Curlinr : HlarassrbsiD ; aurenils penpulerer GomLm -

(<) Gews Qgrenea : WBLLT ; Hmen :

Fill in the blanks.

(a) Motor : a permanent magnet ; then
Commercial motor :

(b) Focal length of a lens : metre ;

A\

Power of a lens :

(69 @l qv 6 & 6 pédws Gedwb Fy -@ Qurmer eerarGurg Gbusden
Hlanaoda e s@TeuenrULLD QUMTE.

If the object is placed at a principal focus F, of a convex lens, draw the ray diagram for

the image formation.

eramr 1.47 Qamew e enTanTolammiufle

aAwrang sTHHNEI(HHS! gofleiise
4 = 5 3% 108 15/ad erafled Loaim@emraimGammiiiley

HIOPSIDEI. smHle gperfludlen HensGousid
gefliden SensGausd GTEET ?

Light enters from air to kerosene _havi1_1g refr
light in kerosene, if the speed of light in air 15

fractive index of 1.47. What is the speed of
3x108 m/s?

[ Hprys / Turn OVer
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\9fey - 111 / SECTION - III

(fi@uanser : 20)/ (Marks : 20)

HLb HIETT(E AeT&EHEHEES

@iy : () @aQars LESHGSEESIL @G eaT of % s

eflenL_wiafl&HeyLd.
i) Cseeuwrer @L msafler LLLD eUMTS.
Note : (i) Answer any four questions by choosing one question from each part.

(i) Draw diagrams wherever necessary.

L@&3 -1/ PART - 1
48. (=) ereCGpmi ereuaiansuier Liayflmg) ?
(=) sreCGrmuieme ghu@BbL LTHULsE Wrmes ?
(&) sreGpmulilanen gpUBSHID Crmi srreuflufler QuwiT wrg ?
() sreGprilenar sLQLILIGSSID aGCHE@ID epem) (PEDDSEET 6T (LG5
(@) How is Tuberculosis transmitted ?
(b) How does Tuberculosis affect our body ?

(c) What is the causative agent of Tuberculosis ?

(d) How can it be prevented ? (any three)

9. wafils gaamlder LOGauy ursmsmaTs @GOG E, SASEM LianTl&eariLyb
GHLIIs.

List out the various parts of the human brain and write a note on their functions



50.

51.

52.

53.

=" U@$ - 11/ PART - 11
Bl&paysaner GTQ-Q@IGS.‘IB —EHDE LrSGuphs wopds FEUGD Grene

(=) wse Hlsney wimiin 2IFe euSEmar alfleuflss.
() @ig6n perenio SseeT 6T(S)S.

Write the two events involved in the sexual reproduction of a flowering plant.
(a)  Discuss the first event and explain its types.

(b)

Mention the advantages and disadvantages of that event.

L.|e?a5, Lens, eribi@ Crradlaib Lens wam_aib. @)&Ewe 2 L opasdhE anmng
creuens goms Cerarddisert ? Sryemhismer er(HSIs.

We are surrounded by smoke. Is this situation good for our health ? Give reason.

L& - 11/ PART - III
Qemalmd samissatan Cora eranaflémamuls samréssl(Hs.
(=) 7 &l. enpLgen (<=4) 4.6 8. Comguib
(@) 40 &. sredlwibd () 14 4. dlgHwiid (2.) 3.2 &. geour

Find how many moles of atoms are there in :
(a) 7 gof Nitrogen (b) 4.6 g of Sodium
(c) 40 g of Calcium (d) 14 g of Lithium (e) 3.2 g of Sulphur

sflo Carohse A bopmibd B g dluaes CHO erany padsnp eumium_enl &
QarerTL LIHOIL SHepLILEGET. rhblu Sy A Gemguid 2 GCarsgsgL e
@@L e allmal QeuaflCupmdmag). cgbsmrrei),-B @euaﬁlanm I_IIﬂG)J.@Q')‘GlDGD.
A ayans AL IgE SIB@EHILET Sit HS0, 2L-an eflean fibg Lpssmdien
weawrapen L C 6rai GeTsmss sHADS Gmﬂa)_' rHHIL BiepLoLiL|ser
A, B pmib Gairow C -8 sam_fls. sEHs Caudl swanhEmen er(psgis.

5 R ; i formula C,H.O.
: ds ‘A’ and ‘B’ are the isomers Wlth the molecular formula C, ¢0:
g;i‘a;)c u;(:lﬁl\g?“;‘ro duces hydrogen gas with sodium metal, whereas compound ‘B

does not. Compound ‘A’ reacts with acetic acid in the presence of Conf:er,ltr,at,e d B0
to form compound ‘C’ with fruit flavour. What are the isomers ‘A", ‘B” and the

compound ‘C" ? Write suitable chemical equations.

[ SlLiys / Turn over
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55.
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L@ - IV / PART - IV

2 b5 fleflamanin clenwis sag, Quouiidésaid.

State law of conservation of momentum and prove it.

(1) ULb, Qur@per ‘O LHmID Qeerflanmed 2 (HeuTssLILILL agm‘ﬁh?um
T -8 GHédpg. LLsHD Qeds wWHDD g eraury HDUSS
2 MHAUTEGHANG eTarLmsd s (b sdiei@ruL amrs. Ceoeadler
péSw el ‘F -pé @Més. Qeadlar QUWTE smmis.

|

O I

(<) anliyar AzreoaCrrafuiar staamanser @ramQ SIS

(a) The diagram shows an object ‘0, and its image ‘I’ formed by a lens. In the
diagram, draw the lens and the rays to show how the image is formed. Mark
focus F, of the lens. Name the lens. ‘

|
l
O [

(b) Mention any two achievements of Hubble Telescope.

~00o0-



SSLC EXAMINATIONS, MARCH/APRIL — 2018
SCIENCE - KEY ANSWER

MAXIMUM MARKS :75

SECTION - |
(Marks : 15)

Choose the correct answer :

15x1=15

Buried the dead

1

Rabies

Thyroid gland

Pollination

Cat

Annelids

Cholera

OINOON LW =

Non-aqueous solution

©

Malic acid

Chalcogen family

Ethyne

Thin wire

Four times that of its original value

Increased

Magnetic field

—d | emh | eh | enh | eh| | eh | | b | -l b | -l -l -,

SECTION-1I
(Marks : 40)

Note : Answer any twenty questions:

20x2=40

16

Punnet square:

_E 0 R r
R RR Rr
R Rr rr

Characteristics of puppies:

e 3 Puppies will bark,

e 1 Puppy will be silent
Genotypicratio = 1 :2 :1 (RR:Rr :m)
Phenotypic ratio = 3 : 1 (Barking trait : Silent trait)




—

(17 | Charles Darwin et
Principles : (Any two) e
1. Struggle for existence 3
2. Survival of the fittest. 2
3. Variation leads to genetic diversity (Evolution).
18 | Monoclonal antibodies are the antibodies produced from 1
cloned cells by hybridoma technology.
Uses : Itis used in treatment of cancer. L
19 (a) Both (A) and (R ) are true and (R ) explains (A)
20
' 1+1
a. unipolar b. bipolar
21
ot
Cotyledon
Diagram — 1 mark Parts — 1 mark
22 | i). Epidermal Hair i
ii) Milk producing glands 1
23 | a) Nephrons 1
b) Kidney, Ureter, Urinary bladder, Urethra 1
24 | a) Heterodont dentition 1
.| b) Incisors 1
25 | a) Fermentation 1
.| b) Yeast i
26 | Fishes take in water through their mouth and their gills, where
the dissolved oxygen is absorbed by the blood. The amount of
dissolved Oxygen in the air is low compared to the amount of
oxygen in the water. So it cannot survive for long when taken
out of water
27 | a) A- Xylem , B — Phioem ]
b) Transpiration, Root pressure 1




28

a) Carbon-di-oxide
b) A-Photosynthesis, B-Respiration,
C-Combustion, D-Decomposition

29

“Energy Management” is a term that has a number of
meanings, but we are mainly concerned with the one that

relates to saving energy at business, public-sector /

government organizations and homes.

(or)
Energy Management is the process of monitoring, controlling
and conserving energy in any household or organization.

30

a) Denmark

a) Acidic in nature — Lemon juice, Tomato juice, Coffee

b) Methane 1
31 Source A B C
Renewable Hydrogen | Wind Solar energy
Non-Renewable | Coal Natural gas | Petroleum
32
= i 2\ Weight of the solute
Welght n percent a3 Weight of the solute + Weight of the solvent x 100 1
30 30
= 30070 X100 = — x 100 =30 % 1
33 | a) Suspension
b) Opaque ;
c) Heterogeneous 72X 4
d) More than 2000 A
34
Element Atomic mass Molecular Atomicity
mass Number
Chlorine 35.5 71 2 o X 4
Ozone 16 48 3
Sulphur 32 256 8
Nitrogen 14 28 2
35 | Hydrochloric acid — strong acid 1
Acid which ionise completely in water are called strong acid 1
1
1

36

b) Basic in nature - Household ammonia




37
. X Ore Formula
a) | Bauxite Al,05.2H,0 i
b) | Cuprite Cu,0 Vo X
C Haematite Feo 04
d) | Copper Pyrites CuFeS,
38 | Yes, the reason satisfy the assertion
39 | a) Ethanol
b) Ethanol
¢)Ethanoic acid 2x4
d) Ethanoic acid
40 | Moment of force = force x perpendicular distance = Fxd 1
For the spanner with a long handle ‘d’ is large. Therefore, the 1
Moment of force is also large and hence it is easier to rotate
the object.
41 ; : GM
Acceleration due to gravity g9== 1
=(6.67x 10 " x 104) / 20?
= (693.68 x 107'") / 400
=1.7342x 10"
=1.73x 10" ms? 1
1 I R T
— = —t—t— 1
Rp 3+2 30 6+4
- S | 1
=573 10
3
=6+1+ v
=28
T 30
=
=~
=30 (Answer = Y2 mark,Unit = 2 mark) 1
43 : oxid
+ve electrode | Lead acid accumulator | Lead dioxide 1
- ve electrode | lechlanche Zinc ] 1




Work done
Heat ener

Potential difference i

45

Yax4 | 2

a) Electro magnet
b) Dioptre 9

46

47

Speed of light in airc =3 x 10 ® m/s
Refractéve index of kerosene =y = 1.47
H ==
Vv

3 x108
1.47 = 3XwWom/s | 3xi08

v 1.47
=2.04x10%m/s

SECTION - lil
(Marks : 20)

Note: Answer any four questions by choosing one question from each part

| 4x5=20 |

PART -l

48

a) Through air
b).(i) Persistent cough
(ii) Loss of body weight
(iii) Lungs infection . :
(iv) Infection in bones, joint, lymph glands, alimentary track, liver,
kidney, etc. (Any one)
c) Mycobacterium tuberculosis

d) Prevention; [Any three] = | |
e Keeping oneself healthy and avoiding unsanitary conditions,
overcrowding and poor-ventilation.
« Sunlight and fresh air are important agents that act as natural
disinfectants, readily destroying the germs.
« [solation of the patients and frequent sterilization of articles
used by them aré also important. ‘L
Incineration (purning) of cloth / clothes containing droplets /
s f the patients can prevent infection.

of t i :
:t:msfrl\jitzlgtri'on with BCG vaccine is an effective measure to

is disease- :
":":; (:)';ttlg.r:f should cover his/her mouth and nose while
o

coughing and sneezing.
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Various parts of the brain

its functions

Major
Parts

Sub Divisions

Functions

e

Fore
brain

Cerebrum

Intersensory associations,
memory communication,
imagination reasoning, hearing,
speaking, seeing, tasting,
smelling etc

Thalamus

A major conducting center for
sensory and motor signaling

Hypothalamus

Control body temperature, urge to
eat and drink, regulation of sexual
behavior, emotional reaction like
excitement, anger, fear, pressure
and motivation

Mid
brain

Corpora
Quadrigemina

Control and regulates visual
reflexes and optical orientation

Hind
brain

Cerebellum

Regulates and coordinates the
movements of voluntary muscles
as in walking or running

Pons

It relays the information from the
Cerebrum to the Cerebellum,
Controls sleep and respiratory
centers

Medulla
oblongata

Regulation of heart beat, t_)lood
vessel contraction, breathing




e

PART - Il

50

Two events

1. Pollination
2. Fertilization

a) First event — Pollination is of two types. They are:
1. Self pollination (Definition)
2. Cross pollination (Definition)

b) Advantage and disadvantage

o1 * No, this situation is not good for our health
* _Any four points
-
PART -1l |
52 | a) 7g of nitrogen :
Number of moles = Z22™mas  _ 7 _ 05 mole
Atomic mass 14
b)4.6 g of sodium _
Number of moles = Z22mass.  _ 46 _ 5 ole
Atomicmass 23
c) 40 g Calcium : |
Number of moles = ——ormass, 40 _ 4 e
‘Atomicmass 40
d)14 g Lithium _
Number of moles = % - 1—7" =2 mole
e) 3.2 g sulphur . |
Number of moles = —wemmass _ 32 _ g 4 0
Atomicmass 32
53 | 1. Organic compound A — Ethyl alcohol (Ethanol)- C,H;OH _

B — Dimethyl ether — CH3-O-CH,
2. Ethanol reacts with sodium metal to form Sodium ethoxide and
hydrogen gas 2C,Hs50H + 2 Na -------eueee- - 2C;HsONa +H,
3. Ethanol reacts with ethanoic acid in the presence of
Sonipniritad 30 te and water fruity flowe
hyl ethanoate a wer
To form Ethy ConHaSO,
C H H CH COOH - CHaCOOCsz + Hzo
ar A G A — Ethyl alcohol (Ethanol)- C.HsOH
B — Dimethyl ether — CH3-O-CH,
C - Ethyl ethanoate - CH3COOC,H,
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Guomsb sTevTslSEmEEMIL 5607 HBGHN)
3) Curasafiar sreramfidms =@urafisrfon/ ggibmp
(7 Symbd enpLTEET ) = 78 /14 & = 0.5 Guomsd
ap) Curaiasafiar sramenflsena ~Qur@shsnfis/ sjgihsmn
(4.6 &y Gempund ) = 4.6 6/ 23 & = 0.2 Qumred
@) Cursiasfisr sraranfidms =GumeafisiBlan/ oigiblenn
(40 Sgmbd Sredhwid ) = 40 &/ 40 & = 1 Gunsv
) Cursbseflsr srvorenflsoms =Gummeflsrlonn/ 9igmiblamy
(14 Symd sflSSHwid ) =14 81/ 7 & = 2 Guns
2 ) Cursissher srsursnfldema =GureafisElonn/ oigmiblanm
(3.2 flgmb sSlGGhwd) =3.2 &/ 32 & = 0.1 Gomsd
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